Peter Ilyich T'chaikovsky
Pezzo Capriccioso, Op. 62

FAGOTTO 1.

Andante con moto. —
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Non cambiar il tempo.
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Peter Ilyich T'chaikovsky
Pezzo Capriccioso, Op. 62

FAGOTTO IL

Andante con moto.

a
P2 e o= e = T T
16

7 1 i
fr mp  crese.

I
’
i
Ia
”co
Ji)

Sy (%‘“
Z,
L8

mn,

0 T K m— 1 i
EEIE= e eeeemrmse i ===
wf P cre . . _scem _ do
J
\ 5 o] o]
—{ | N 1 A nl ][ ]&l [V | | 3
1 }‘T]‘ 1 1) ;L_ ; i ‘ V‘F VA T J | | > >
mf —— — V 2
\
s r e
'rn1 7 L) /. L. % ) L7 L, ”, ”,
~— — = o —

fhﬁ
o
f
%
f
Nel
g -
Su
”,)

S
o




